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Useful Guidelines:
* The slope of a line e through the points (x%,3) and (x,,y,)is (\, oﬁ (Q \Q
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* Thes lope—lntercept form of the equation of a line with slope m and y-intercept b is
y=mx+b
1. Graph and find the slope of a line through the points(1,9) and (8,18). Label all the points.(*:Yly7g, g)
Find an equation of the line containing the given pair of points. fi2e ‘jﬁ\
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2. Find the equation in slope-intercept form of the line satisfying the given conditions. ,)\

a) slope 4; y-intercept (0,9) j (Y\‘K 5 b) slope 7. ; y-intercept (0,-2)
™M= q ‘ ?osfa\l:.vc aoes wp ﬁ\b?e, "\\‘rﬂﬂ_ 4

Nagauve e, down F'\

=q | U=Ux~9q X -
Tyt - Ko <
&~ N LO,"Z}
VAR

3. For each equation, write it in s lope-mtercept form, give the slope of the llne give the y-
intercept, and graph the line. Label the line and all the points. 3 MMX YD
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